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a) y=-2x24+8x—5

b) y=3x24+2x+1

1
Q) y=4—2x+§x2

RDBEHICDONT, () RICRUICERTCHTDRKELR/IVE
ZRHK. Flo, TDEED x DIEZ%ZRHK.

a) y=-—x>-2x—-5 (-2<x<2)

b) y=2x24+3x-1 (-1<xZ2)

ROPBLRIN BRI DEE TS
a) 2x2+3x—-1=0

b) 3x2—5x+9=0

) x2-2x4+2=0

d) 4x(x +5) =25
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IRDORENERT. F-FOBAEHERLCRE.
a) 2x24+x—-6>0

b) 2x2—-3x—-25Z0

) 2(x2—=x)<3(x+1)

d) x24+x-1<0

e) 4x2—4x+1>0

f) 2x2—-3x+2<0

MORSHBORS LD lom RVLEHEDBEED 21cm? THDE, &
BOENZTNDORSZELEH L.

(6] 1#FoRMH 50 BDATTST%, 1320 ATHESDE, B8 120 HFD
FOEFNGD. BUELFEITNE, 1410 BOELFICDE 5 FOST.
FOLEFHRATBENS. HEERAICTDICE, 1HFVSTREINEEL
BN



